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4.5 - Compound Inequalities

Vocabulary:
» compound_inequality - Two inequalities that are joined together by
the word(‘'and") or the word '
>
X >3 ond x5 X>7 o/ X<°3
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(1 exampie ) Wrmpound inequalities that represent each situation.

_Graph the solutions.
a. all real ers that are at b. all real numbers that are less
least -1 at most 3. than 31, but greater than 25.
m m

() x<3 X 25

SI>X gnd XS5
25 L% Z 3

Ux=2] we x4

ﬂ—lfx and X =3

@ - £ x<3
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Write a compound inequality that represents each situation. Graph your solution.

1. all real numbers that are between -4 and 6. - d” A X/ LO

< | (————1 | >
5 -z 7] 1 3% S 7]
3. The circumference of a baseball is between 23cm and 23.5cm.

D 4 L7272 G
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QDY solve 5> 5 - 7> 2. Graph the solution.
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Solve each compound inequality. Graph yvour solution.

S. -3 <] <7
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possible grades g can you make on yoyr next fest to have an average
between 85 and 907?

EEZIEDD Your test grades in science so @_@g and 87. What

2. R 2 3%}*:* 3.E 90,3

255 = X < Q70
- |70 =\ S,

°5 < % < oo
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39. Multiple Choice The force exerted on a spring is proportional to the
distance the spring stretches from its relaxed position. Suppose you stretch
a spring MMS by applying foree F inpounds. For a certain
spring.‘fn = (.8. You apply forces betweer{25/and 40 pounds, inclusive. ;wof_-ggg
Which inequality describes the stretch of the spring?
A—25 =+ =40 B 20<d < 32
—~—3H25=d-=40 @) =d =32

= 0.8

. 0.%=5 M\J%\j = OB

d = A0 Gnd cl =2z
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GQEZIEDY Write an inequality that represents each situation.
Graph the solutions.

a. all real numbers that are b. Discounted tickets are available to
_less than 0 or greater hildren under 7 years old or to
than 3. adults 65 and older.

X £ O by X>3 X LT or X>(5
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For each situation write and graph an inequality.

17. all real numbers that are at most -3 or at least b

19. all real numbers less than 1 or greater than 3
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@) Solve the compound inequality 3x 2;‘2 <-Tor —4X\Té5 < 1‘3

Graph the solution. \
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Solve each compound inequality. Graph your solution.

2L.3b— 1 < —T7ordb +1 =9

+ + - -—/
L=l of _ﬁb>5
-2 of b>2
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Homework: pg. 229 #2, 6, 8, 14, 20, 24, 28, 30, 32, 46, 60




